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1. OO0O0O
Blossoms ={ff|ff0ooooog }

Myflower={00,00,0,0,0,000,0,0,00 }
S=11,2,5,7,9,8} = {2,5,1,8,9,7}
N=1{0,1,2,3,--}={njn0D00 }

Even = {2n|n € N}
Odd = {2n+1|n € N}

Z = {z|for some n € N,z is n or —n} = {z|z is an integer}
Q = {r|for some n,m € Z,m # 0,r = %} = {%m,m €Z,m#0}
R={z]zO00OO }

C={c0000 } ={z+iylr,y € R}

FivesN = {n|for some m € N,n = 5m} = {sm|m € N}
Negativelnt = {z|z € Z and z < 0}

FEllipse = {{x,y) |22* + 3y* < 10}
InsideEllipse = {(z,y) |22* + 3y* < 10}

Periphery = {{z,y) |22% + 3y* = 10}

2. 0gooo
Blossoms N Myflower ={00,0,0,000,0,00 }

SNE = {28}
SUFEven ={n € N|n=1,5,7,9 or for some m € N,n = 2m}

Even® = Odd



OFvenc00ONOOOOOOODOOOOI
Q-Z={qeQlg= %,NotDim’des(m,n)}
00000NotDivides(m,n) JO0mO n00000000O0O00OOOOCOMO
Z — Negativelnt = {z € Z|z > 0}

InsideEllipse U Periphery = Ellipse
Ellipse N InsideEllipse® = Periphery

0000 InsideRllipsec 000000000 O0O0O0OODOOODOOODOO
InsideEllipse N Periphery = ¢
3. 0o
{00,0,0,000,0,00 }C Blossoms

Even C N;Odd C N
SCN
NcZcQcRcC
FivesN C N

Esslipse C {{z,y) |z,y € R,2* + y* < 10}



